State of New Hampshire Department of Transportation

Project: GILFORD X-A001(187) 16207

County and Code: BELKNAP COUNTY 001

Date Bids Open: January 9, 2014

Scope of Work: ROADWAY IMPROVEMENTS

Location: INTERSECTION OF NH RTE. 11A WITH BELKNAP

MOUNTAIN AND SCHOOL HOUSE HILL ROADS

Completion Date: August 22, 2014

A S U R CONSTRUCTION INC.

233 CHESTNUT HILL RD., ROCHESTER, NH 03867 \$454,452.00

B J. PARKER & DAUGHTERS, INC.

70 DAROSKA ROAD PITTSFIELD, NH 03263 \$470,897.00

C BUSBY CONSTRUCTION CO., INC.

71 NH ROUTE 111 ATKINSON, NH 03811 \$473,346.25

D F. L. MERRILL CONSTRUCTION INC.

619 SAND ROAD, PEMBROKE, NH 03275 \$474,033.55

E JOHN H LYMAN & SONS INC

310 HOYT ROAD GILFORD NH 03249 \$496,610.00

F NORTHEAST EARTH MECHANICS INC

159 BARNSTEAD ROAD PITTSFIELD NH 03263 \$529,461.00

G R.M. PIPER, INC.

PO BOX 490, PLYMOUTH, NH 03264 \$559,326.00

H CONNIES SEPTIC SERVICE INC D/B/A C

513 DONALD ST BEDFORD, NH 03110 \$561,885.00

Item					A		В		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
202.6	CURB REMOVAL FOR STORAGE	LF	45.00	\$2.00	\$90.00	\$5.00	\$225.00	\$5.00	\$225.00
202.7	REMOVAL OF GUARDRAIL	LF	1,575.00	\$1.50	\$2,362.50	\$2.00	\$3,150.00	\$1.00	\$1,575.00
202.8	REMOVAL OF FENCE	LF	16.00	\$2.00	\$32.00	\$2.00	\$32.00	\$5.00	\$80.00
203.1	COMMON EXCAVATION	CY	2,000.00	\$5.50	\$11,000.00	\$8.00	\$16,000.00	\$10.50	\$21,000.00
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$895.00	\$3,580.00	\$400.00	\$1,600.00	\$750.00	\$3,000.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	210.00	\$2.25	\$472.50	\$8.00	\$1,680.00	\$7.00	\$1,470.00
214	FINE GRADING	U	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
304.2	GRAVEL (F)	CY	700.00	\$24.00	\$16,800.00	\$20.00	\$14,000.00	\$26.00	\$18,200.00
304.3	CRUSHED GRAVEL (F)	CY	920.00	\$24.00	\$22,080.00	\$25.00	\$23,000.00	\$32.00	\$29,440.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,050.00	\$75.50	\$79,275.00	\$100.00	\$105,000.00	\$80.00	\$84,000.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	50.00	\$130.00	\$6,500.00	\$140.00	\$7,000.00	\$130.00	\$6,500.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	50.00	\$130.00	\$6,500.00	\$140.00	\$7,000.00	\$130.00	\$6,500.00
417	COLD PLANING BITUMINOUS SURFACES	SY	1,750.00	\$4.00	\$7,000.00	\$7.00	\$12,250.00	\$3.80	\$6,650.00
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
563.301	BRIDGE RAIL T101 - MODIFIED	LF	81.00	\$110.00	\$8,910.00	\$110.00	\$8,910.00	\$135.00	\$10,935.00
585.32	STONE FILL CLASS C INTERMIXED WITH HUMUS	CY	230.00	\$50.00	\$11,500.00	\$30.00	\$6,900.00	\$36.00	\$8,280.00
593.411	GEOTEXTILE; PERM. CONTROL CL. 1, NON-WOVEN	SY	1,300.00	\$1.50	\$1,950.00	\$2.00	\$2,600.00	\$1.50	\$1,950.00
603.33212	12" POLYETHYLENE END SECTION	EA	1.00	\$450.00	\$450.00	\$250.00	\$250.00	\$175.00	\$175.00
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$45.00	\$1,125.00	\$30.00	\$750.00	\$30.00	\$750.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$100.00	\$400.00	\$200.00	\$800.00	\$150.00	\$600.00
604.22	DROP INLETS TYPE B	U	1.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00

Item					A		 В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	6.00	\$200.00	\$1,200.00	\$300.00	\$1,800.00	\$250.00	\$1,500.00
604.76	GRATES & FRAMES, TYPE F	EA	3.00	\$360.00	\$1,080.00	\$300.00	\$900.00	\$385.00	\$1,155.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	4.00	\$1,975.00	\$7,900.00	\$2,000.00	\$8,000.00	\$2,100.00	\$8,400.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$500.00	\$500.00	\$600.00	\$600.00	\$1,100.00	\$1,100.00
606.12851	BRIDGE APPROACH RAIL MODIFIED (D1)	U	1.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00
606.12852	BRIDGE APPROACH RAIL MODIFIED (D2)	U	1.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
606.12853	BRIDGE APPROACH RAIL MODIFIED (D3)	U	1.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
606.12854	BRIDGE APPROACH RAIL MODIFIED (E)	U	1.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
606.15806	STEEL BEAM GUARDRAIL, 8'-6" STEEL POSTS (NU-GUARD 31)	LF	1,600.00	\$18.00	\$28,800.00	\$20.00	\$32,000.00	\$19.00	\$30,400.00
606.15807	STEEL BEAM GUARDRAIL, 9'-6" STEEL POSTS (NU-GUARD 31)	LF	125.00	\$20.00	\$2,500.00	\$20.00	\$2,500.00	\$21.00	\$2,625.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	850.00	\$18.00	\$15,300.00	\$30.00	\$25,500.00	\$26.00	\$22,100.00
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	1.00	\$6,400.00	\$6,400.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
609.02	CURVED GRANITE CURB	LF	40.00	\$45.00	\$1,800.00	\$50.00	\$2,000.00	\$60.00	\$2,400.00
609.5	RESET GRANITE CURB	LF	30.00	\$25.00	\$750.00	\$10.00	\$300.00	\$50.00	\$1,500.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	560.00	\$8.00	\$4,480.00	\$7.00	\$3,920.00	\$8.00	\$4,480.00
615.02	TRAFFIC SIGN TYPE B (F)	SF	29.50	\$36.00	\$1,062.00	\$40.00	\$1,180.00	\$29.00	\$855.50

Item					 A		 В		C
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.03	TRAFFIC SIGN TYPE C (F)	SF	15.50	\$33.00	\$511.50	\$50.00	\$775.00	\$40.00	\$620.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	14.00	\$145.00	\$2,030.00	\$150.00	\$2,100.00	\$115.00	\$1,610.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$12.50	\$100.00	\$50.00	\$400.00	\$14.00	\$112.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
618.7	FLAGGERS	HR	1,085.00	\$23.00	\$24,955.00	\$15.00	\$16,275.00	\$24.00	\$26,040.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$11,000.00	\$11,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$6,000.00	\$12,000.00	\$2,000.00	\$4,000.00
621.21	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR (WHITE)	EA	31.00	\$4.00	\$124.00	\$5.00	\$155.00	\$5.00	\$155.00
621.31	SINGLE DELINEATOR WITH POST	EA	20.00	\$32.00	\$640.00	\$35.00	\$700.00	\$38.00	\$760.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$1.00	\$1,700.00	\$2.00	\$3,400.00	\$1.50	\$2,550.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	10,000.00	\$0.20	\$2,000.00	\$0.18	\$1,800.00	\$0.20	\$2,000.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	40.00	\$7.00	\$280.00	\$35.00	\$1,400.00	\$40.00	\$1,600.00
645.3	EROSION STONE	TON	20.00	\$31.00	\$620.00	\$40.00	\$800.00	\$45.00	\$900.00
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	50.00	\$9.00	\$450.00	\$8.00	\$400.00	\$10.00	\$500.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	190.00	\$5.50	\$1,045.00	\$5.00	\$950.00	\$6.50	\$1,235.00
645.531	SILT FENCE	LF	4,500.00	\$4.00	\$18,000.00	\$3.00	\$13,500.00	\$2.50	\$11,250.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$52.00	\$3,120.00	\$75.00	\$4,500.00	\$75.00	\$4,500.00

Item					 A		 В		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	625.00	\$0.70	\$437.50	\$3.00	\$1,875.00	\$0.75	\$468.75
646.412	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS (F)	SY	1,680.00	\$3.50	\$5,880.00	\$4.00	\$6,720.00	\$5.00	\$8,400.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	2.00	\$130.00	\$260.00	\$150.00	\$300.00	\$125.00	\$250.00
670.104	TEMPORARY PORTABLE LIGHTING	U	1.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00
692	MOBILIZATION	U	1.00	\$45,000.00	\$45,000.00	\$21,000.00	\$21,000.00	\$29,000.00	\$29,000.00
698.13	FIELD OFFICE TYPE C	MON	7.00	\$1,600.00	\$11,200.00	\$1,500.00	\$10,500.00	\$1,250.00	\$8,750.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
					\$454,452.00		\$470,897.00		\$473,346.25

Item					 D		 E		 F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	_ Total	Unit Price	Total
202.6	CURB REMOVAL FOR STORAGE	LF	45.00	\$5.60	\$252.00	\$5.00	\$225.00	\$3.00	\$135.00
202.7	REMOVAL OF GUARDRAIL	LF	1,575.00	\$1.65	\$2,598.75	\$1.20	\$1,890.00	\$2.00	\$3,150.00
202.8	REMOVAL OF FENCE	LF	16.00	\$3.25	\$52.00	\$5.00	\$80.00	\$10.00	\$160.00
203.1	COMMON EXCAVATION	CY	2,000.00	\$11.00	\$22,000.00	\$11.00	\$22,000.00	\$12.00	\$24,000.00
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$1,100.00	\$4,400.00	\$1,200.00	\$4,800.00	\$1,350.00	\$5,400.00
203.6	EMBANKMENT-IN-PLACE (F)	CY	210.00	\$7.00	\$1,470.00	\$14.00	\$2,940.00	\$21.00	\$4,410.00
214	FINE GRADING	U	1.00	\$3,815.00	\$3,815.00	\$11,000.00	\$11,000.00	\$2,600.00	\$2,600.00
304.2	GRAVEL (F)	CY	700.00	\$21.00	\$14,700.00	\$33.00	\$23,100.00	\$38.00	\$26,600.00
304.3	CRUSHED GRAVEL (F)	CY	920.00	\$28.40	\$26,128.00	\$33.00	\$30,360.00	\$40.00	\$36,800.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,050.00	\$92.65	\$97,282.50	\$80.00	\$84,000.00	\$90.00	\$94,500.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	50.00	\$141.00	\$7,050.00	\$150.00	\$7,500.00	\$135.00	\$6,750.00
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	50.00	\$136.00	\$6,800.00	\$150.00	\$7,500.00	\$135.00	\$6,750.00
417	COLD PLANING BITUMINOUS SURFACES	SY	1,750.00	\$4.70	\$8,225.00	\$6.00	\$10,500.00	\$7.00	\$12,250.00
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$1,970.00	\$1,970.00	\$400.00	\$400.00	\$600.00	\$600.00
563.301	BRIDGE RAIL T101 - MODIFIED	LF	81.00	\$120.00	\$9,720.00	\$130.00	\$10,530.00	\$125.00	\$10,125.00
585.32	STONE FILL CLASS C INTERMIXED WITH HUMUS	CY	230.00	\$34.50	\$7,935.00	\$46.50	\$10,695.00	\$40.00	\$9,200.00
593.411	GEOTEXTILE; PERM. CONTROL CL. 1, NON-WOVEN	SY	1,300.00	\$2.70	\$3,510.00	\$2.00	\$2,600.00	\$2.00	\$2,600.00
603.33212	12" POLYETHYLENE END SECTION	EA	1.00	\$272.00	\$272.00	\$160.00	\$160.00	\$165.00	\$165.00
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$52.00	\$1,300.00	\$50.00	\$1,250.00	\$60.00	\$1,500.00
604.0007	POLYETHYLENE LINER	EA	4.00	\$174.00	\$696.00	\$150.00	\$600.00	\$140.00	\$560.00
604.22	DROP INLETS TYPE B	U	1.00	\$1,900.00	\$1,900.00	\$1,800.00	\$1,800.00	\$2,200.00	\$2,200.00

Item					D		 E		 F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	6.00	\$307.00	\$1,842.00	\$350.00	\$2,100.00	\$350.00	\$2,100.00
604.76	GRATES & FRAMES, TYPE F	EA	3.00	\$655.00	\$1,965.00	\$750.00	\$2,250.00	\$450.00	\$1,350.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	4.00	\$2,150.00	\$8,600.00	\$2,100.00	\$8,400.00	\$2,250.00	\$9,000.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$544.00	\$544.00	\$1,100.00	\$1,100.00	\$540.00	\$540.00
606.12851	BRIDGE APPROACH RAIL MODIFIED (D1)	U	1.00	\$5,435.00	\$5,435.00	\$4,900.00	\$4,900.00	\$5,750.00	\$5,750.00
606.12852	BRIDGE APPROACH RAIL MODIFIED (D2)	U	1.00	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00	\$6,250.00	\$6,250.00
606.12853	BRIDGE APPROACH RAIL MODIFIED (D3)	U	1.00	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00	\$6,250.00	\$6,250.00
606.12854	BRIDGE APPROACH RAIL MODIFIED (E)	U	1.00	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00	\$6,250.00	\$6,250.00
606.15806	STEEL BEAM GUARDRAIL, 8'-6" STEEL POSTS (NU-GUARD 31)	LF	1,600.00	\$19.55	\$31,280.00	\$19.00	\$30,400.00	\$20.00	\$32,000.00
606.15807	STEEL BEAM GUARDRAIL, 9'-6" STEEL POSTS (NU-GUARD 31)	LF	125.00	\$21.75	\$2,718.75	\$21.00	\$2,625.00	\$23.00	\$2,875.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	850.00	\$27.00	\$22,950.00	\$35.00	\$29,750.00	\$45.00	\$38,250.00
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	1.00	\$3,260.00	\$3,260.00	\$5,000.00	\$5,000.00	\$7,450.00	\$7,450.00
609.02	CURVED GRANITE CURB	LF	40.00	\$35.20	\$1,408.00	\$40.00	\$1,600.00	\$30.00	\$1,200.00
609.5	RESET GRANITE CURB	LF	30.00	\$12.90	\$387.00	\$15.00	\$450.00	\$17.00	\$510.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	560.00	\$5.40	\$3,024.00	\$9.00	\$5,040.00	\$6.00	\$3,360.00
615.02	TRAFFIC SIGN TYPE B (F)	SF	29.50	\$136.00	\$4,012.00	\$36.00	\$1,062.00	\$40.00	\$1,180.00

Item					 D		 E		F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.03	TRAFFIC SIGN TYPE C (F)	SF	15.50	\$55.00	\$852.50	\$26.00	\$403.00	\$38.00	\$589.00
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	14.00	\$49.00	\$686.00	\$100.00	\$1,400.00	\$120.00	\$1,680.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$27.15	\$217.20	\$25.00	\$200.00	\$14.00	\$112.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
618.7	FLAGGERS	HR	1,085.00	\$24.00	\$26,040.00	\$23.00	\$24,955.00	\$24.00	\$26,040.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$18,225.00	\$18,225.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,080.00	\$2,160.00	\$2,800.00	\$5,600.00	\$1,250.00	\$2,500.00
621.21	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR (WHITE)	EA	31.00	\$4.35	\$134.85	\$5.00	\$155.00	\$5.00	\$155.00
621.31	SINGLE DELINEATOR WITH POST	EA	20.00	\$35.00	\$700.00	\$40.00	\$800.00	\$35.00	\$700.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$1.30	\$2,210.00	\$1.75	\$2,975.00	\$5.00	\$8,500.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	10,000.00	\$0.22	\$2,200.00	\$0.22	\$2,200.00	\$0.30	\$3,000.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	40.00	\$7.50	\$300.00	\$8.00	\$320.00	\$45.00	\$1,800.00
645.3	EROSION STONE	TON	20.00	\$24.30	\$486.00	\$22.00	\$440.00	\$45.00	\$900.00
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	50.00	\$11.00	\$550.00	\$10.00	\$500.00	\$12.00	\$600.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	190.00	\$6.00	\$1,140.00	\$4.00	\$760.00	\$7.00	\$1,330.00
645.531	SILT FENCE	LF	4,500.00	\$3.20	\$14,400.00	\$3.50	\$15,750.00	\$3.00	\$13,500.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$2,720.00	\$2,720.00	\$2,750.00	\$2,750.00	\$3,000.00	\$3,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$49.00	\$2,940.00	\$50.00	\$3,000.00	\$50.00	\$3,000.00

Item					D		 E		 F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	625.00	\$1.00	\$625.00	\$1.00	\$625.00	\$1.00	\$625.00
646.412	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS (F)	SY	1,680.00	\$2.80	\$4,704.00	\$4.00	\$6,720.00	\$7.00	\$11,760.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	2.00	\$163.00	\$326.00	\$125.00	\$250.00	\$200.00	\$400.00
670.104	TEMPORARY PORTABLE LIGHTING	U	1.00	\$1,295.00	\$1,295.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
692	MOBILIZATION	U	1.00	\$25,210.00	\$25,210.00	\$28,800.00	\$28,800.00	\$33,000.00	\$33,000.00
698.13	FIELD OFFICE TYPE C	MON	7.00	\$1,630.00	\$11,410.00	\$2,600.00	\$18,200.00	\$500.00	\$3,500.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
					\$474,033.55		\$496,610.00		\$529,461.00

Item					 G		 Н		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
202.6	CURB REMOVAL FOR STORAGE	LF	45.00	\$4.00	\$180.00	\$3.25	\$146.25		
202.7	REMOVAL OF GUARDRAIL	LF	1,575.00	\$2.00	\$3,150.00	\$1.95	\$3,071.25		
202.8	REMOVAL OF FENCE	LF	16.00	\$2.00	\$32.00	\$13.40	\$214.40		
203.1	COMMON EXCAVATION	CY	2,000.00	\$10.00	\$20,000.00	\$12.00	\$24,000.00		
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$1,400.00	\$5,600.00	\$1,036.75	\$4,147.00		
203.6	EMBANKMENT-IN-PLACE (F)	CY	210.00	\$5.50	\$1,155.00	\$20.00	\$4,200.00		
214	FINE GRADING	U	1.00	\$12,500.00	\$12,500.00	\$2,000.00	\$2,000.00		
304.2	GRAVEL (F)	CY	700.00	\$27.00	\$18,900.00	\$25.00	\$17,500.00		
304.3	CRUSHED GRAVEL (F)	CY	920.00	\$34.00	\$31,280.00	\$25.00	\$23,000.00		
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,050.00	\$76.00	\$79,800.00	\$110.50	\$116,025.00		
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	50.00	\$130.00	\$6,500.00	\$162.50	\$8,125.00		
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	50.00	\$130.00	\$6,500.00	\$162.50	\$8,125.00		
417	COLD PLANING BITUMINOUS SURFACES	SY	1,750.00	\$5.85	\$10,237.50	\$5.20	\$9,100.00		
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$3,500.00	\$3,500.00	\$650.00	\$650.00		
563.301	BRIDGE RAIL T101 - MODIFIED	LF	81.00	\$125.00	\$10,125.00	\$143.00	\$11,583.00		
585.32	STONE FILL CLASS C INTERMIXED WITH HUMUS	CY	230.00	\$55.00	\$12,650.00	\$108.36	\$24,922.80		
593.411	GEOTEXTILE; PERM. CONTROL CL. 1, NON-WOVEN	SY	1,300.00	\$2.25	\$2,925.00	\$1.25	\$1,625.00		
603.33212	12" POLYETHYLENE END SECTION	EA	1.00	\$400.00	\$400.00	\$160.00	\$160.00		
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$57.00	\$1,425.00	\$30.00	\$750.00		
604.0007	POLYETHYLENE LINER	EA	4.00	\$220.00	\$880.00	\$200.00	\$800.00		
604.22	DROP INLETS TYPE B	U	1.00	\$1,500.00	\$1,500.00	\$2,960.00	\$2,960.00		

Item					G		 Н		
No: 	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	6.00	\$400.00	\$2,400.00	\$400.00	\$2,400.00		
604.76	GRATES & FRAMES, TYPE F	EA	3.00	\$680.00	\$2,040.00	\$800.00	\$2,400.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	4.00	\$2,000.00	\$8,000.00	\$2,575.00	\$10,300.00		
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$1,050.00	\$1,050.00	\$650.00	\$650.00		
606.12851	BRIDGE APPROACH RAIL MODIFIED (D1)	U	1.00	\$4,800.00	\$4,800.00	\$6,500.00	\$6,500.00		
606.12852	BRIDGE APPROACH RAIL MODIFIED (D2)	U	1.00	\$4,800.00	\$4,800.00	\$7,150.00	\$7,150.00		
606.12853	BRIDGE APPROACH RAIL MODIFIED (D3)	U	1.00	\$4,800.00	\$4,800.00	\$7,150.00	\$7,150.00		
606.12854	BRIDGE APPROACH RAIL MODIFIED (E)	U	1.00	\$4,800.00	\$4,800.00	\$7,150.00	\$7,150.00		
606.15806	STEEL BEAM GUARDRAIL, 8'-6" STEEL POSTS (NU-GUARD 31)	LF	1,600.00	\$18.00	\$28,800.00	\$23.40	\$37,440.00		
606.15807	STEEL BEAM GUARDRAIL, 9'-6" STEEL POSTS (NU-GUARD 31)	LF	125.00	\$20.00	\$2,500.00	\$26.00	\$3,250.00		
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	850.00	\$27.00	\$22,950.00	\$33.00	\$28,050.00		
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	1.00	\$8,000.00	\$8,000.00	\$5,625.00	\$5,625.00		
609.02	CURVED GRANITE CURB	LF	40.00	\$30.00	\$1,200.00	\$75.50	\$3,020.00		
609.5	RESET GRANITE CURB	LF	30.00	\$12.00	\$360.00	\$50.00	\$1,500.00		
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	560.00	\$8.00	\$4,480.00	\$6.50	\$3,640.00		
615.02	TRAFFIC SIGN TYPE B (F)	SF	29.50	\$140.00	\$4,130.00	\$50.00	\$1,475.00		

Item					G		 Н		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
615.03	TRAFFIC SIGN TYPE C (F)	SF	15.50	\$55.00	\$852.50	\$50.00	\$775.00		
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	14.00	\$50.00	\$700.00	\$150.00	\$2,100.00		
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$28.00	\$224.00	\$50.00	\$400.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
618.7	FLAGGERS	HR	1,085.00	\$24.00	\$26,040.00	\$26.50	\$28,752.50		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$38,500.00	\$38,500.00	\$13,722.70	\$13,722.70		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,500.00	\$9,000.00	\$3,250.00	\$6,500.00		
621.21	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR (WHITE)	EA	31.00	\$5.00	\$155.00	\$5.20	\$161.20		
621.31	SINGLE DELINEATOR WITH POST	EA	20.00	\$40.00	\$800.00	\$30.00	\$600.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$2.25	\$3,825.00	\$2.62	\$4,454.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	10,000.00	\$0.22	\$2,200.00	\$0.25	\$2,500.00		
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	40.00	\$8.00	\$320.00	\$50.00	\$2,000.00		
645.3	EROSION STONE	TON	20.00	\$30.00	\$600.00	\$30.00	\$600.00		
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	50.00	\$8.00	\$400.00	\$10.00	\$500.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	190.00	\$5.00	\$950.00	\$3.25	\$617.50		
645.531	SILT FENCE	LF	4,500.00	\$3.00	\$13,500.00	\$2.50	\$11,250.00		
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$4,500.00	\$4,500.00	\$3,250.00	\$3,250.00		
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$80.00	\$4,800.00	\$58.50	\$3,510.00		

Item					 G		 Н		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	625.00	\$2.00	\$1,250.00	\$1.08	\$675.00		
646.412	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS (F)	SY	1,680.00	\$4.50	\$7,560.00	\$3.68	\$6,182.40		
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	2.00	\$150.00	\$300.00	\$200.00	\$400.00		
670.104	TEMPORARY PORTABLE LIGHTING	U	1.00	\$6,000.00	\$6,000.00	\$2,500.00	\$2,500.00		
692	MOBILIZATION	U	1.00	\$68,500.00	\$68,500.00	\$38,630.00	\$38,630.00		
698.13	FIELD OFFICE TYPE C	MON	7.00	\$1,000.00	\$7,000.00	\$2,000.00	\$14,000.00		
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00		
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
					\$559,326.00		\$561,885.00		

		A - PS&E Comparison					PS&E = NHDOT Cost Estimate		
Item				A	A-Bidder		S&E	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	<u>Difference</u>	
202.6	CURB REMOVAL FOR STORAGE	LF	45.00	\$2.00	\$90.00	\$6.00	\$270.00	(\$180.00)	
202.7	REMOVAL OF GUARDRAIL	LF	1,575.00	\$1.50	\$2,362.50	\$2.00	\$3,150.00	(\$787.50)	
202.8	REMOVAL OF FENCE	LF	16.00	\$2.00	\$32.00	\$3.00	\$48.00	(\$16.00)	
203.1	COMMON EXCAVATION	CY	2,000.00	\$5.50	\$11,000.00	\$8.00	\$16,000.00	(\$5,000.00)	
203.5554	GUARDRAIL 50' EAGRT PLATFORM	U	4.00	\$895.00	\$3,580.00	\$1,100.00	\$4,400.00	(\$820.00)	
203.6	EMBANKMENT-IN-PLACE (F)	CY	210.00	\$2.25	\$472.50	\$6.00	\$1,260.00	(\$787.50)	
214	FINE GRADING	U	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
304.2	GRAVEL (F)	CY	700.00	\$24.00	\$16,800.00	\$22.00	\$15,400.00	\$1,400.00	
304.3	CRUSHED GRAVEL (F)	CY	920.00	\$24.00	\$22,080.00	\$25.00	\$23,000.00	(\$920.00)	
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	1,050.00	\$75.50	\$79,275.00	\$87.00	\$91,350.00	(\$12,075.00)	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	50.00	\$130.00	\$6,500.00	\$130.00	\$6,500.00	\$0.00	
403.98	HOT BITUMINOUS CONCRETE LEVELING, MACHINE METHOD	TON	50.00	\$130.00	\$6,500.00	\$85.00	\$4,250.00	\$2,250.00	
417	COLD PLANING BITUMINOUS SURFACES	SY	1,750.00	\$4.00	\$7,000.00	\$8.00	\$14,000.00	(\$7,000.00)	
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	(\$1,000.00)	
563.301	BRIDGE RAIL T101 - MODIFIED	LF	81.00	\$110.00	\$8,910.00	\$200.00	\$16,200.00	(\$7,290.00)	
585.32	STONE FILL CLASS C INTERMIXED WITH HUMUS	CY	230.00	\$50.00	\$11,500.00	\$35.00	\$8,050.00	\$3,450.00	
593.411	GEOTEXTILE; PERM. CONTROL CL. 1, NON-WOVEN	SY	1,300.00	\$1.50	\$1,950.00	\$3.50	\$4,550.00	(\$2,600.00)	
603.33212	12" POLYETHYLENE END SECTION	EA	1.00	\$450.00	\$450.00	\$300.00	\$300.00	\$150.00	
603.82212	12" PE PIPE (TYPE S)	LF	25.00	\$45.00	\$1,125.00	\$40.00	\$1,000.00	\$125.00	
604.0007	POLYETHYLENE LINER	EA	4.00	\$100.00	\$400.00	\$125.00	\$500.00	(\$100.00)	
604.22	DROP INLETS TYPE B	U	1.00	\$1,300.00	\$1,300.00	\$1,800.00	\$1,800.00	(\$500.00)	

		A - PS&E Comparison					PS&E = NHDOT Cost Estimate		
Item	D				A-Bidder		S&E 	A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	6.00	\$200.00	\$1,200.00	\$325.00	\$1,950.00	(\$750.00)	
604.76	GRATES & FRAMES, TYPE F	EA	3.00	\$360.00	\$1,080.00	\$425.00	\$1,275.00	(\$195.00)	
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 50 FT) (STEEL POST)	U	4.00	\$1,975.00	\$7,900.00	\$2,200.00	\$8,800.00	(\$900.00)	
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$500.00	\$500.00	\$500.00	\$500.00	\$0.00	
606.12851	BRIDGE APPROACH RAIL MODIFIED (D1)	U	1.00	\$5,000.00	\$5,000.00	\$4,300.00	\$4,300.00	\$700.00	
606.12852	BRIDGE APPROACH RAIL MODIFIED (D2)	U	1.00	\$5,500.00	\$5,500.00	\$3,200.00	\$3,200.00	\$2,300.00	
606.12853	BRIDGE APPROACH RAIL MODIFIED (D3)	U	1.00	\$5,500.00	\$5,500.00	\$7,500.00	\$7,500.00	(\$2,000.00)	
606.12854	BRIDGE APPROACH RAIL MODIFIED (E)	U	1.00	\$5,500.00	\$5,500.00	\$3,800.00	\$3,800.00	\$1,700.00	
606.15806	STEEL BEAM GUARDRAIL, 8'-6" STEEL POSTS (NU-GUARD 31)	LF	1,600.00	\$18.00	\$28,800.00	\$20.00	\$32,000.00	(\$3,200.00)	
606.15807	STEEL BEAM GUARDRAIL, 9'-6" STEEL POSTS (NU-GUARD 31)	LF	125.00	\$20.00	\$2,500.00	\$22.00	\$2,750.00	(\$250.00)	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	850.00	\$18.00	\$15,300.00	\$22.00	\$18,700.00	(\$3,400.00)	
606.9513	TEMP. IMPACT ATTENUATION DEVICE (REDIRECTIVE), TEST LEVEL 3	U	1.00	\$6,400.00	\$6,400.00	\$7,000.00	\$7,000.00	(\$600.00)	
609.02	CURVED GRANITE CURB	LF	40.00	\$45.00	\$1,800.00	\$40.00	\$1,600.00	\$200.00	
609.5	RESET GRANITE CURB	LF	30.00	\$25.00	\$750.00	\$15.00	\$450.00	\$300.00	
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	560.00	\$8.00	\$4,480.00	\$6.00	\$3,360.00	\$1,120.00	
615.02	TRAFFIC SIGN TYPE B (F)	SF	29.50	\$36.00	\$1,062.00	\$35.00	\$1,032.50	\$29.50	

			A - PS&E Comparison				PS&E = NHDOT Cost Estimate		
Item				A-Bidder		PS&E		A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
615.03	TRAFFIC SIGN TYPE C (F)	SF	15.50	\$33.00	\$511.50	\$25.00	\$387.50	\$124.00	
615.034	RELOCATING TRAFFIC SIGN, TYPE C	U	14.00	\$145.00	\$2,030.00	\$175.00	\$2,450.00	(\$420.00)	
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$12.50	\$100.00	\$20.00	\$160.00	(\$60.00)	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	
618.7	FLAGGERS	HR	1,085.00	\$23.00	\$24,955.00	\$22.50	\$24,412.50	\$542.50	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	(\$10,000.00)	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$2,250.00	\$4,500.00	(\$2,500.00)	
621.21	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR (WHITE)	EA	31.00	\$4.00	\$124.00	\$6.75	\$209.25	(\$85.25)	
621.31	SINGLE DELINEATOR WITH POST	EA	20.00	\$32.00	\$640.00	\$35.00	\$700.00	(\$60.00)	
628.2	SAWED BITUMINOUS PAVEMENT	LF	1,700.00	\$1.00	\$1,700.00	\$2.00	\$3,400.00	(\$1,700.00)	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	10,000.00	\$0.20	\$2,000.00	\$0.15	\$1,500.00	\$500.00	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	40.00	\$7.00	\$280.00	\$5.00	\$200.00	\$80.00	
645.3	EROSION STONE	TON	20.00	\$31.00	\$620.00	\$30.00	\$600.00	\$20.00	
645.51	HAY BALES FOR TEMPORARY EROSION CONTROL	EA	50.00	\$9.00	\$450.00	\$6.50	\$325.00	\$125.00	
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	190.00	\$5.50	\$1,045.00	\$10.00	\$1,900.00	(\$855.00)	
645.531	SILT FENCE	LF	4,500.00	\$4.00	\$18,000.00	\$3.00	\$13,500.00	\$4,500.00	
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$8,000.00	
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$52.00	\$3,120.00	\$60.00	\$3,600.00	(\$480.00)	

Δ.	- PS&F	Comparison
$\mathbf{\Lambda}$	JUCE	Collinalisoli

		A - PS&E Comparison					PS&E	PS&E = NHDOT Cost Estimate	
Item				A-Bidder		 PS&E		A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	625.00	\$0.70	\$437.50	\$1.50	\$937.50	(\$500.00)	
646.412	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS (F)	SY	1,680.00	\$3.50	\$5,880.00	\$4.00	\$6,720.00	(\$840.00)	
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	2.00	\$130.00	\$260.00	\$200.00	\$400.00	(\$140.00)	
670.104	TEMPORARY PORTABLE LIGHTING	U	1.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$0.00	
692	MOBILIZATION	U	1.00	\$45,000.00	\$45,000.00	\$27,000.00	\$27,000.00	\$18,000.00	
698.13	FIELD OFFICE TYPE C	MON	7.00	\$1,600.00	\$11,200.00	\$1,500.00	\$10,500.00	\$700.00	
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	
					\$454,452.00		\$471,147.25	(\$16,695.25)	